5/H-76 (xii) (Syllabus-2015)

2018
.( October )

- .. COMMERCE
( Honours )

( Cost Accounting )
' ( BC-502 )
Marks : 75
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
1. (@) Distinguish between Product Costs and

Period Costs. 4

(b) Define cost object and give any two
. examples of it. 3

(c) A factory uses 4000 varieties of
inventory. Classify these varieties of
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(2)

inventory as per ABC analysis from the
following information :

No. of varieties in’ Auerage value of | lwentory usage mn
inventory inventory in percentage (in
Percentage end produc]
3875 10 10
110 20 15
— 15 | 70 75—
T T 100

(3)

(b) State the importance of cost accounting
in managerial decision making. 5
2. (a)"/".The' following ififormation relates to the
“Human  'Résource Department of
~ Shillorig ''Ltd. for the year 'ending
~ 31st March, 2018 : o

Assume the value of total inventory is
€20,00,000, Also give reasons for your

classiﬁcatioh. ’
Or
@ A company manufactures 5000 units of
2 product per month. The cost ©
Placing an-order is # 100. The purchase
mce of raw material js @ 10 per unit
© reorder period is 4 to 8 weeks. The
; ' C;Onsum.pti(m. of raw material varies fro™
g 00 Units to 450 ynits per week. -me
| Z;e Consumption per week °
. S units. The carrying cost 0
"ventory g 20% per annum.
alculate. '
) reorder Quantity
) maximuin teve;
() average leye)
D9/133 inuié? /

"No. of workers at the begmmng of the Year 8000
" No. of workers fat the end of the year 9600
No. of workers léft the company dul'fng the year 500
No. of worker§ discharged during the ‘year ’ 100

No. of workers replaced due to leaving and discharging 700
Additional workers employed for expansion o

during the year ‘ 1500
Calculate labour turnover rate using
() separation method, (i) replacement
method and (i) flux method. 6

)

D9/133

State with reasons, to what extent the
following items are included in product
cost of a manufacturing company, given

that ‘the costing is primarily done to fix
the product prices’ : 9

(i) Interest on borrowings
(i) Bonus and gratuity |
(i) Research and development cost
() Packing expenses
(v) Set-up time h
(vi) Advertising
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(@)

D9/133

- 4)

- Or

A manufacturing company has three
Production departments and two service
departments. The summary of depart-

mental expenses distributed is -as

under :.

Production Departments Amount

1 4

R 30,000

P 28,000

) 25,000
Service Departmenss

§ 9,000

Sy 11,000

20,000

The é’Aihpenses of service department (51

I8 equally Charged to productio?

de ents p rvicé
1> P2 and Pa and se
department S,. On the other hands
€Xpenses of S, are charged @ 20%, 30%
-4 30% to p, P, and P, respectively

and the : rvice
Ce 18 charged to se
departmens S,

Pl‘epare a
service

Statement showing t°
Mt of expenses of W
departments in productio”

( conﬁﬂ”gd

by simultaneous equatioﬂ 12

)

)

3. (a)

o)

D9/133

(5)

Distinguish between actual overhead
rate and pre-determined overhead rate.

For a company for the month of March
2018,' the output of Process—A was
50000 units. Normal loss allowed is
10% of input. Abnormal loss was
4000 units. The following further
information is given as :

Input material @ ¥ 5 per unit

Labour—¥ 80,000

Overheads—¥ 67,000

Wastage redlized @ € 2:50 per unit
Prepare—

() Process—A A/c;
() Abnormal Loss A/c.
An enquiry for submission of quotation

is received by a company. Bill of
materials has been prepared by the

production department for . the
job which states the following
requirements :

Paper 10 reams @ € 1,800 per ream
Ink and other printing material—¢ 5,000
Binding material and other
consumables—& 3,000
Some photography is required for
the job. The company decided to
outsource it at a hire charge

( Turn Over )



(@) -

(b)

© - Sonstryetyy

D9/133

. Deten . ‘ .
job, - € the price to be quoted for the

(6)

of ¥10,000. Production department

Jilzecfiﬁed for following services for the

) 80 hours of Artist who is paid @

‘ ?12)000 P.m,

(%) 75 hours of copywriter who is paid
@ 10,000 p.m. ‘

(i) 30. hours of cljent servicing who is
T Paid @ £9,000 p.m,
r:;i:_”:immy Packing material will be
OVerhee . for  ©4,000. Production
ain q diz s:@ ‘.1'0% of direct cost. Selling
Droducﬁtnbuhon overheads @ 25% of
earn on \;zost. The company expect to
Assum@ 20/9 Profit on quoted price-
w ® that 25 days in a month ¢ is
orked at g hours daily

10

Dist; - or
lstlnguiSh between

NBcc hag

Scrap and wastage-

ntered into a contract fof

for gove, € an office building complée*

“begun i, g o2t fOr € 480 lakh, The work

Complete Prl 2017 ang is estimated t0
by June 2018. The work ha’s

Progre, ‘
Ssed as Scheduled and the actual

( Contiﬂ“ed).

(7))

costs charged till March 2018 are .as

follows : -
. (€ in lakh)
Materials 112:20
Labour 12-00
Hire charges for equipmrents‘ 20-00
Other charges 16:00
Establishment expenses 32:40
The following information is also
available : . |
L (¥ in lakh)
‘Materials in hand as on 31st March, 2018 6-60
400-00

Work certified as on 21st March, 2018

Cash received @ 80% of work. certified work

yet not certified at 31st March, 2018

D9/133

7:50
The company has estimated. following
further - expenditure to complete the
work : ‘ '

o (T in lakh)

.. Material 10-50

" Labour 16:00
Subcontractor’s charges 20-00

- Equipment hiring . ‘ 2-:00

Other charges L ' 1-00

Establishment charges ' 690

Prepare Contract A/c showing the value
of work-in-progress as on 31st March,
'2018 after cbnsidei‘ihg.‘,‘a reasonable
profit ‘margin. Make a 'provision - for
contingency @ 5% of total costs. ' = 12

3
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(8)

4. (a) fl:::llovving informations are extracted
ml: co.mpany X in the year 2017 for
Production anq sales of 30000 units :

4
s,ftf el 6,00,000
Labouy 2,00,000
Vot 1,20,000
ariable overheads 80,000
Fixed overheads 70,000

A

m:;:e;;st for the year 2018 has been
Materia] the company that the price of
ma unitwm Increase by 5% while cost
et Ofo Variable overheads will
remas rhye 2%. The other factors will

main same, i

Compute the_ You are required to
@) nur.nbef- °f units to be sold to

10

Utilizing geer e &  product,

of Pane. 51 80,00, 000 o, SPeCity with 2

.50° € cost :iata ::euansit;eging pricé
nder :

Materig) cost:

Doy 133

( Continued ).
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(9)

Semi-variable cost (including variable
component ¥ 37-50 per unit}—¥ 18,00,000

Fixed cost ¥ 9,00,000 up to 80% of capacity and
- beyond this level an additional ¥ 2,00,000 is needed

(a) Calculate activity level at break-even
point.

(b) Calculate the number of units to be sold
so as to earn a profit of 8% of sales.

{c) Calculate activity level needed to earn a
profit ¥ 9,50,000.

(d) What should be the selling price per
unit, if break-even point is to be
brought down to 40% of capacity? 15

S. (a) A building can be constructed 'by
engaging a gang of workers as given
below for 100 working days of 8 hours

each :
Skilled Semi-skilled Unskilled
No. of workers

in the gang 6 8 6
Standard hourly
wage rate (in ¥) 50 40 32

Actual completion of work however took
104 days of 8 hours each. This included
16 hours of stoppages due to heavy
rain. The actual number of workers
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( 10 )

engaged and the actual rates paid are

given below :
‘ 4 Skilled - skilled skilled
No. of workers Semi-skilled  Uns
enga‘ged‘ T
. 8 . 6
Actual hourly 6
Vegerate (in @) g 48 32

-~ Calculate all possible lébour variances. 10

() Budget ig an aid to management and .
M0t a  substityte for management. .
Commmt. 5

Or

(a) Standard Costing and bu d getaly contrOl

are Interrelateq but not interdependent' 5 |

Omment,

(b . )

) :‘he followmg are the estimated sales‘ of

30 Comp a'ny for eight months endln g
* November, 2014 .

2018 Units .
:ai ';‘ 24000 '
June 26000 S
sy 18000 |
Auga 16000 .'
Septomp 20000 ]
- : er o 24000
October 28000
Novernbe 24000

Déflaa- | .- edl} £

f
|

/ COﬂtmu iﬁ]

(11 )

As a matter of policy, the company
maintains the closing’ balance of
finished goods and raw materials are as
follows :

(i) Finished goods—Closing stock of a
month is 50% of the estimated '
sales for the next month

(i) Raw material—Closing stock of a
month is equal to estimated
consumption for the next month

Each unit of production consumes 4 kg

of raw material at ¥ 12 per kg. For the

half year ending 30th Séptember, 2018.

Prepare (i) monthwise production

budget in units and (i) monthwise raw

material purchase.budget in both units

and ‘cost. 10

* %k
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